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B 50 BES
B 510 2NBE3S
8 511 20PE3S (SHo: &)
E-2-8-9 o & o r[ELV AL HimE==l
= 6.670,000 6,577,000 93,000
500 Hx2 815,090 1,089,367 £224,277
510 2DBEIS 633,695 884,570 A190,875
511 202X3S 693,695 884,570 £190,875
511-01 22X 693,69 884,570 £190,875
< EXNFHD > 693,695 884,570 £190,875
O AZSURASHZARE(HZ22/H)
279,455,002 279,455
O AZSURASLH P A2 E(HONQSHTXIH)
235,928,002 235,923
O ARBURASHZ AL E (ALHESTINR)
178,317,0002 178,317
520 Al - CHIZZEZS 121,3% 164,797 A33,402
521 Al - SHIEE2S 121,3% 164,797 A33,402
521-01 Al - CHIBE2S 121,39 164,797 33,402
<EXNFD > 21,3% 164,797 A33,402
O JAZSURXSLHZLBE(BZBI)
48,904, 000! 48,904
O 2SR HBAEE(HHQASHTRIH)
41,286,0002! 41,286
O 2SS HBLEE (A LYERTINE)
31,205,0009! 31,206
700 BF4SALYE Y 5,854,910 5,531,773 33,137
720 L1 2f 5,854,910 5,531,773 323,137
721 B2 5,854,910 5,531,773 33,137
721-08 JIEtEI N H L2 5,854,910 5,531,773 33,137
< =XNFUD > 5,854,910 5,531,773 33,137
O ekl M3 5,854,910
- JBZUFEY AR 5,802,050, 0002 5,802,050
- gyl 21,792,000% 21,792
- FOHIZEIID| N 17,604, 0002 17,69%
- AN DA X 13,374,0002! 13,374
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SXE 6,670,000 6,577,000 93,000
= 693,69
& 121,3%
Al 5,854,910
AP N YR = (SXIE L) 6,670,000 6,416,953 253,047
= 693,69
= 121,3%
Al 5,854,910
230X (223HII2SESA) 6,670,000 6,416,953 253,047
= 693,69
& 121,3%
Al 5,854,910
IZ2NXXHMBAE X (A 22(HI) 350, 151 383,992 A33,841
= 279,455
& 48,904
Al 21,792
201 L2 AH| 12,960 15,560 A2,600
= 10,368
& 1,814
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01 AtR2elt] 10,560 13,160 A2,600
O d=z280H 222 ME S
6,000,000&*14 6,000
= 4,800
& 840
Al 360
O =20 MREE 7Y
2,300,000& x4 2,300
= 1,840
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O =220 aeRAs 2Y =Y
90,0003 *2H*23| 360
= 288
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Al 2
O 2d2=0WsE Zelf)| Xz
1,900,000& 14 1,900
= 1,520
= 266
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02 =24l 2,400 2,400 0
O dS20Ad2e 88 HEE 2
50,000 =4CH* 12 2,400
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SA - B B9(30) - NISAY - BES Ol &kt e HImE2
= 1,920
& 336
Al 144
202 (44| 23,040 23,340 A300
= 18,432
& 3,226
Al 1,382
01 =LHAABI 21,840 21,840 0
O 2220 Y42 £
20,0003 *7 B 13+ 12 21,840
= 17,472
& 3,058
Al 1,310
05 SF& W=s0Ul 1,200 1,500 A300
O 2=z 22| A WS
1,200,000& 14 1,200
= 960
= 168
Al 72
307 2I12t0| ™ 314,151 350,092 A35,941
= 250,655
& 43,864
Al 19,632
01 222+ =l 314,151 350,092 A35,941
O 2220 el S
304,771,000& 14 304,771
= 243,151
& 42,551
Al 19,069
O MIIABZ0 A At
9,380,000& 1A 9,380
= 7,504
& 1,313
Al 563
S ZHARHMBAE R (HOHABEHAXI) 294,903 330,539 A35,636
= 235,923
& 41,286
Al 17,6%4
301 YBIENZ 294,903 330,539 A35,636
= 235,923
& 41,286
Al 17,694
01 Al BEH26IZ2(FREXTHA) 294,903 330,539 A35,636
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S EECNETEEERPIEEELD) (Shol: 2 2)
SA - B - SRIEH) - MRA - BaS 0f v e HIDE2
SEIREESFIERTEE
294,903,000& 1 294,903
= 235,923
= 41,286
Al 17,694
IZSUHXXHMBAE X (HLMERXIHIXIR) 222,8% 248,511 N25,615
= 178,317
s 31,205
Al 13,374
301 2eENS 222,8% 248,511 N25,615
= 178,317
= 31,205
Al 13,374
01 M EEHLTS(FREZMA) 222,8% 248,511 N25,615
O HZHERXIH| &HX2
222,89%6,000& 1 222,8%
= 178,317
S 31,205
Al 13,374
Sl = AFMAN 5,802,050 5,448,911 353,139
308 AFXIEMSOIE 5,802,050 5,448,911 353,139
07 HXEH2AEE= 5,802,050 5,448,911 353,139

5,802,050,000& 1 5,802,050




